TARRAGONA 	Eje X: V EXTR; 	Eje Y: Tu;	Eje Z: días Q AUX=0

SISTEMA ACUMULACION VARIABLE
x= [45, 60, 75, 90, 105, 120, 135, 150, 165, 180];
y= [40, 45, 50, 55, 60, 65, 70, 75];
z= [303, 255, 182, 100, 38, 0, 0, 0, 0, 0;
279, 191, 91, 15, 0, 0, 0, 0, 0, 0;
247, 118, 15, 0, 0, 0, 0, 0, 0, 0;
186, 46, 0, 0, 0, 0, 0, 0, 0, 0;
120, 1, 0, 0, 0, 0, 0, 0, 0, 0;
67, 0, 0,  0, 0, 0, 0, 0, 0, 0;
19, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0];

SISTEMA ACUMULACION CONSTANTE
x= [45, 60, 75, 90, 105, 120, 135, 150, 165, 180];
y= [40, 45, 50, 55, 60, 65, 70, 75];
z= [226, 150, 72, 19, 0, 0, 0, 0, 0, 0;
154, 56, 1, 0, 0, 0, 0, 0, 0, 0;
71, 1, 0, 0, 0, 0, 0, 0, 0, 0;
10, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0,  0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0];


